FF145 THS1FEPETERBEARERFIRFTE

<EXEE> (84 T, %) (84 FF. %)
X & TR31ERE |#tt] THRI0EE |#mkt = 5l [GES X & TRI1ERE |#mt| FRI0EE |#mLt = 35| [GES
1 ERBERER 1,459,014] 158 1,504,849| 16.7 A 45,835 A 3.0 1 WBKE 44,467 0.5 46,019 0.5 A 1552 A 34
2 FRAMRUFHH 1,610 0.0 2,100 0.0 A 490 A 233 2 RIHKREGE 6,768,607 73.2 6,710911| 743 57,696 0.9
3 BEXHE 6,986,934 756 6,792,665 75.3 194,269 2.9 3 EREERRSEEMEIS 2,307,346 25.0 2,163,224 240 144,122 6.7
4 BAEIRA 1,294 0.0 373 0.0 921 246.9 4 RIBEEEE 73,273 0.8 72,968 0.8 305 0.4
5 fEA® 773,140 8.4 708,178 78 64,962 9.2 5 HEBIE 1,294 0.0 373 0.0 921 246.9
6 EHE 1 0.0 2 0.0 A1 A 500 6 NMEE 439 0.0 439 0.0 0 0.0
7 EEURA 20,606 0.2 19,747 0.2 859 0.0 7 XS 32,173 0.3 18,980 0.2 13,193 69.5
8 FlKE 15,000 0.2 15,000 0.2 0 0.0
E 9,242,599 100.0 9,027,914| 100.0 214,685 2.4 B 9,242,599 100.0 9,027,914 100.0 214,685 2.4
<EBEZ#E> (B4 FF, %) (84 FF, %)
X & TR314ERE |#Eaitt] FRI0EE |#mkt = 35 [GES X & TR 314ERE |#ritt| FRI0EE |#mt = 5 GES
1 2EIRA 166,915 75.4 209,317 795 A 42,402 A 203 1 WBEE 112,323 508 118,068 4458 A 5,745 A 49
2 FRARUFHH 571 0.3 643 0.2 A 72 A112 2 EXE 98,322| 444 118,085| 44.8 A 19,763 A 16.7
3 BXHE 1,292 0.6 9,558 36 A 8,266 A 86.5 3 RS 2,909 1.3 19,566 7.4 A 16,657 A 85.1
4 BAEEIRA 3 0.0 3 0.0 0 0.0 4 NMEE 6,727 3.0 6,727 26 0 0.0
5 FHte 3 0.0 3 0.0 0 0.0 5 P& 1,000 0.5 1,000 0.4 0 0.0
6 fEAE 45169 204 28,257 107 16,912 59.9
7 iREE 1 0.0 1 0.0 0 0.0
8 A 6,427 2.9 6,464 25 A 37 A 06
9 Thig 900 0.4 9,200 35 A 8,300 A 90.2
it 221,281] 100.0 263,446] 100.0 A 42,165 A 16.0 B 221,281 100.0 263,446] 100.0 A 42,165 A 16.0
EE158 FPRIIFENEHTEEERHKEERANSFHTE (e, %) (Ef T, %)
X % 314 |#Eaitt] FRI0ERE |#mk = 5l [GES X & Tr314EE | #aitt] FRI0ERE |k = 35| [GES
1 HEERVEHES 1,218 04 1,218 0.4 0 0.0 1 #WKE 109,769| 34.0 104,028| 29.9 5,741 55
2 FABRUFHEA 67,349 20.9 67,494 194 A 145 A 0.2 2 BEEEYKERE 2,100 0.7 16,528 438 A 14,428 A 873
3 BEXH&E 1,178 0.4 3422 1.0 A 2244 A 65.6 3 NMEE 205,691| 63.7 221,797 638 A 16,106 A3
4 BAEIRA 70 0.0 77 0.0 A7 A 91 4 FiwE 5,000 1.6 5,000 15 0 0.0
5 f&AE 252,743 783 275,140 79.2 A 22397 A 8.1
6 s 1 0.0 1 0.0 0 0.0
7 EEURA 1 0.0 1 0.0 0 0.0
H 322,560] 100.0 347,353] 100.0 A 24,793 A 7.1 B 322,560] 100.0 347,353] 100.0 A 24793 A 7.1




HE165 THIEETENNRERELHISHTE

<HREEEHFE> (fir: T, %) (8t T, %)
X & T 314ERE |#Eitt] FHRI0EE |#mk = 5l [GES X & TER314ERE |#mtt] FRI0EE |#mk = 5 (GRS
1 N ERER 1,542,661 20.0 1,524,486 20.1 18,175 1.2 1 #BE 85,562 1.1 85,333 1.2 229 0.3
2 FRAARUFHH 364 0.0 374 0.0 A 10 A 27 2 RIE#EGE 7.148,209| 926 7,008,909| 92.0 139,300 2.0
3 EEXHE 1,969,627 255 1,955,315| 257 14,312 0.7 3 MEXESE 485,256 6.3 516,953 6.8 A 31,697 A 6.1
4 TIEERNE 2014343 26.1 1,986,699 26.1 27,644 1.4 4 HEBIE 996 0.0 951 0.0 45 47
5 BEXHE 1,078,058| 14.0 1,062,055 13.9 16,003 15 5 EXHE 2,005 0.0 2,004 0.0 1 0.0
6 BAEIRA 995 0.0 950 0.0 45 47 6 FiEE 500 0.0 500 0.0 0 0.0
7 BAS 1,116,474 144 1,084,765| 14.2 31,709 2.9
8 s 1 0.0 1 0.0 0 0.0
9 FEIRA 5 0.0 5 0.0 0 0.0
it 7,722,528] 100.0 7,614,650 100.0 107,878 14 B 7,722,528] 100.0 7,614,650] 100.0 107,878 1.4
<NEY—ERZEEHTE> (g T, %) (B4 FF. %)
X ol SERS1ERE |#Eaktt] FRS0EE |[#rk = 5l (GBS X bl ERS1EE | #Ektt] FRS0ERE |#mtt = 5l R
1 BAEEURA 399 3.0 270 3.1 129 478 1 WK E 4218| 318 5508 625 A 1,290 A 234
2 BAR 5286 39.8 8,536 96.9 A 3,250 A 38.1 2 EREES 7,670 57.7 2,030 230 5,640 ]
3 Z#E 1 0.0 1 0.0 0 0.0 3 HERBIE 400 3.0 271 3.1 129 476
4 FEIRA 2 0.0 2 0.0 0 0.0 4 FlgE& 1,000 15 1,000] 11.4 0 0.0
5 i 7600] 572 0| 00 7,600 B
it 13,288| 100.0 8,809| 100.0 4479 50.8 it 13,288| 100.0 8,809| 100.0 4,479 50.8
FE175 FASIFEREM/MISESHKERBARATH  @u+m % (s . %)
X & TRH314ERE |#Eaitt] FHI0EE |#mk = 35l GES X & T314ERE |#tt|] FHRI0EE |#Emk = 5 [GES
1 FAMRVUFHE 1,440 90.1 1,434 897 6 0.4 1 WBE 37 2.3 38 2.4 A1 A 26
2 BAE 157 9.8 164 10.2 AT A 43 2 NMEE 1511 946 1511 945 0 0.0
3 #RMs 1] 01 1] 01 0 0.0 3 FiRE 50 3.1 50| 3.1 0 0.0
it 1,598 100.0 1,599] 100.0 A A 0.1 B 1,598] 100.0 1,599] 100.0 A A 0.1
BE188 THIIFEREHH AV I _SFINEERARE T Hew: 70 % (i T, %)
X & TR 314EE [ | TR30FE [#aitt = 5l [GES X & TR 314 [#rk| TR30FE |[#aitt = 5 (GBS
1 BEIRA 980 8.7 840 7.7 140 16.7 1 BEE 11,236 100.0 10,875 100.0 361 3.3
2 FRAMRUVFHH 4463 397 3837 353 626 16.3
3 BAEIRA 1 0.0 1 0.0 0 0.0
4 BAE 5652 50.3 6,031 555 A 379 A 6.3
5 EEIRA 140 1.3 166 15 A 26 A 157
B 11,236 100.0 10,875/ 100.0 361 3.3 B 11,236] 100.0 10,875 100.0 361 3.3




FHE195 FH31E

FER TR ASBEEREANRETE

(B FH. %)

(BEf1:FH. %)

X % TE314ERE |#Eritt] FHRI0EE |#mk = 5l [GES X & TER314ERE |#mtt] FRI0EE |#mk = 5 [GES
1 BHEhEEREREY 696,258 71.3 691,626 70.1 4,632 0.7 wissE 6,393 0.6 12,928 1.3 A 6,535 A 50.5
2 FRAARUVFHH 124 0.0 135 0.0 A 11 A 8.1 FEYSEREERLE
3 BAE 279,096 286 292312 297 A 13216 A 45 EEMftE 968,508 99.1 970,658 984 4 2,060 402
4 s 1 0.0 1 0.0 0 0.0 EXHE 1,550 0.2 2,018 0.2 A 468 A 232
5 EHEUIRA 1,562 0.1 2,030 0.2 A 468 A 23.1 FiEE 500 0.1 500 0.1 0 0.0
it 977,041 100.0 986,104 100.0 A 9,063 A 0.9 it 977,041 100.0 986,104] 100.0 A 9,063 A 0.9
BE205 FHIIFERENHT —JNAybT—JEXBANSHFH st Fm.%) CPETHL 50
X % TR31ERE |#tt] FRI0EE |#mkt = 35l [GES X % THRI1EE |#mt| FRI0EE |#mLt = 35| [GES
1 HEERVEES 1,728 0.7 2,716 1.0 A 988 A 364 WikE 234,907 99.6 264,710 996 A 29,803 A113
2 FARRUVFHA 161,266| 68.3 158,894 59.8 2,372 15 NEE 84 0.0 0 0.0 84 et
3 BEIA 364 0.2 224 0.1 140 62.5 FiEE 1,000 04 1,000 04 0 0.0
4 BAE 4,369 1.8 4,371 1.6 A2 0.0
5 FEURA 2,064 0.9 4,205 16 A 2141 A 50.9
6 & 66,200] 28.1 95,300] 35.9 A 29,100 i
£ 235991 100.0 265,710| 100.0 A 29,719 A11.2 B 235,991 100.0 265,710] 100.0 A 29,719 A 112




